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. When an nonnxi onk came to qoi' 21 and both admitted that she became
pregnant by him, qorr a1 said that we don’t have any concerns, one reason is
because they both admitted, and secondly because we hold like 7x"ma 2.
When hearing these reasons "ax asked qolI' 21, saying if he didn’t admit it and
we only had 7x"ma |21, how can we rely on only this reason. Why didn’t he
assume that qor' a0 is using both reasons together?

. w1 writes that here it's Tay*12 because she is pregnant and if we don’t believe
her she would be 10x to her oinx and the child would be 7109. Since the onx
believes her would he be allowed to stay with her?

. The xna says that according to '790 2 ywin' a1 would be "nm. Since N
ywin' said that even when there is n'w> 2N we don’t believe her, how do we
understand the difference between ain and xjo0 7907? Especially since some
explain that xj7o0 790 is 2N nyoun.

. w1 on the mwn of npi'n writes that nxw> 2N means that most of the people
in the city are not of the kind that would make a lady nain>%7 7109, which means
that 50/50 would be ok. How about a situation where it's half n*7109 and half
n1wd and the [n> who wants to marry her is part of the 50%, do we exclude
him, because he knows that he wasn’t the one who was oiaxn her?

. Why did *wn learn this way in the nawn? Having a an is not satisfied by 50/50
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If you have any comments or suggestions, please email me at
Ygrunhaus@gmail.com
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